(3E%k) mHmR

2 E G B =
ROETEEE L -CEATALET,
& 7 B % Bt = 4 E =2 *ﬁiﬁ‘f
OE—% —BEN
O%—1 sEE
O%f%=%& Z GC
O%_1& = kW
OZ0f )
A T e e
XEBEERMDSGE
£ (FRE)
=)
K %(% ﬂ-\) BEF /- (LR
SEEA
£ & B B
EEE S
£ (FRE)
WA K &% )
TS E S
P EADBE L. MEIL TS0,

(X)) COFEREL. BRMAEENODNAMIZEDEEDERZHIRTLHLDTY,
FENAEDHTHOEROLZRLEETZFEOFHEITET A,
BHRFOFHESITWELGERLEHE TIHEAISLY,

(%) FE 5l %’—E — 2[R {F (50cc X (£0. 6BKWLLT)

F—i BTEAMA 0. 6kWLT.,. KE1. 9MmEUT . 1E0. 6mUTREUVREEE20km. hLLT)

E_FE Z(90ccXI(F0. 8KWLLTF)
E "1 B (125ccXIE1. OKWLLTF)
ZOM =—h— PEEHRBEEESE



